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Exercice 1

Cocher les bonnes réponses :
285 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
166 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
270 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
459 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10
390 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 2

Cocher les bonnes réponses :
150 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
405 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
54 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
425 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
255 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10

Exercice 3

Cocher les bonnes réponses :
237 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
612 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 0] par 10
48 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
840 est divisible : L] par 2 U] par 3 L par 5 L] par 9 U] par 10
200 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 4

Cocher les bonnes réponses :
171 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
300 est divisible : L] par 2 U] par 3 Ll par 5 L] par 9 U] par 10
750 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
192 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10
264 est divisible : L] par 2 U par 3 Ll par 5 L] par 9 U] par 10

Exercice 5

Cocher les bonnes réponses :
260 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
78 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
140 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U par 10
594 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
102 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 (] par 10

Exercice 6

Cocher les bonnes réponses :
96 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
490 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
430 est divisible : (] par 2 (] par 3 [l par 5 (] par 9 (] par 10
207 est divisible : (] par 2 [l par 3 [l par 5 (] par 9 0] par 10
60 est divisible : L] par 2 Ul par 3 Ll par 5 L] par 9 U] par 10
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